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QUESTION 1

Multiply 21/7 × 32/3. 

A. 11/3 

B. 132/45 

C. 76/7 

D. 4/7 

Correct Answer: C 

 

QUESTION 2
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In the figure, the lines L3 and L4 have the same slope. 

Which of the following terms best describes their relationship? 

A. transversals 

B. parallel 

C. perpendicular 

D. There is no relationship between these lines. 

Correct Answer: B 

 

QUESTION 3
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What is the value of the expression: 3 + 2(3 + 4)2 - 6 

A. 239 

B. 95 

C. 19 

D. 38 

Correct Answer: B 

 

QUESTION 4

Mary is x years old. She is 6 years older than her twin brothers Sam and Paul. What is the mean age of the three
children? 

A. x - 2 

B. x - 3 

C. x - 4 

D. x + 4 

Correct Answer: C 

 

QUESTION 5

A teacher has a rectangular piece of paper which is 52 cm long and 38 cm wide. She cuts the paper into squares, each
measuring 5 cm by 5 cm. 

What is the largest number of whole squares she cuts? 

A. 79.04 

B. 70 

C. 25 

D. 79 

Correct Answer: B 
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